[19:9:9:9:9:9:0:9.9:9:9:9:0:9.9.:9.9:0:0:9.:0.9:9:9:0:0.9.0.9.9:0:0:0.9.0.9:0:0:0.0.9.0.9:0:0:0.0.9.0:0:0.:0.0.0.9:0:0:0.0.9.0:0:0:0:9.0.9:0:0:0:9.0.0.9:0:0:0.0.9.0:9:0:0:0.0.9.0:0:0.0.0.0.9:0:0:0.0.9.0.9:0:0.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX KKK KKK KKK KKK KKK KKK XXX X KKX KKK XKKXXKKXME6/1-6600503-00001XX

Limit02 piecewise for No.9395
4 — <=2
No]z[f(x):[ roA },a:2}

Tx-5 x> 2
x 11.800011.9000(11.990011.999011.9999|.. |a = 2]...12.000112.001012.01001(12.100012.2000]
8 Dox<=3
NOz:[f(x):[IO—x : x>3}’a:3}
| x 12.800012.900012.990012.999012.9999|.. |la = 3/...]13.000113.0010]13.0100(13.100013.2000]
i [7-x x<4 ] ]
3 : x=4
No3=|f(x)=| 6 ; 4<x<6|a=6
6 : x=6
L 12 —-x = x>0 i
| x [5.8000(15.9000/5.990015.999015.9999|.. |a = 6]...]16.0001/6.0010]16.010016.100016.2000]

4—x = x<=2
Nod = f(’C)_Lx—s c x> 2}
[a=-5,B=-1,y=0,0=1,e=2]

2x-7 : x< -2
| f(x)=] 3x+2 . -2<=x<
Nos = 17  :  x>=5

[a=-5,=0,y=7,0=5,e=-2]

No6=[a=-9,B=-5,y=-4,0=9,e=12]
PN R-ET TN IONNIED 0:6'0.0:0:0.0'0:0:0.0.0.0:0.0.0.0.0:0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'0.0.0.0.0.0.0.0.00.0.0:0¢




):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKKXKKXKKXKXKXKXKX KK KK KK XXX KX KXKKXKKKKXKXM6/1-6600503-00002XX
Limit02 piecewise for No.9419

—4x-2 x<=-2
No]:_f(x):_7x_5 . _2},612-2_
X [=-2.2000]1-2.1000(-2.01001-2.00101-2.0001].. Jla = -2]...1-1.9999|-1.99901-1.9900]-1.9000|-1.8000]
“1+x : x<=95
N02:_f(x):_ 4 . x>5},a:5_
| x |14.800014.900014.990014.999014.9999|.. |la = 5|...]15.000115.0010]15.010015.100015.2000]
i [ 1+x x<5 ] )
6 : x=35
No3=|f(x)=| 6 D 5<x<7a=17
3 : x=7
L L10—-x x>7 i
| x [6.8000]6.9000/6.990016.999016.9999|.. |la= 7]|...17.0001]17.0010]7.0100|7.100017.2000]
“4x-2 : x<=-2
No4 = f()6)2[736—5 : x>-2:|
[ouo=-6,=0,y=2,0=4,e=-2]]
i 7T—-x x< -5 ]
fix)= 12 D5 <x< 2
Nod= 2x-2 & x> 2
[ao=-6,=0,y=1,6=2,e=-5]

No6=[a=-8,B=-7,y=-2,8=1,6=8]
DGR Te [CHENNIV1 02N ID:0:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.9:0:0:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXKXKXKKXKKXKXKXKXKX KK KK KK XKXKXKXKKXKKKKXKXM6/1-6600503-00003XX
Limit02 piecewise for No.9428

3x+4 x<=3
NOI:_f(x):_—4x+6 x>3_,a=3_
x 12.800012.9000[12.990012.999012.9999|.. |la = 3[...]13.0001]13.001013.010013.10001]3.2000/
1 oox<2
NoZ:_f(x)z_S_x : x>=2_’a:2_
| x 11.8000]1.900011.990011.9990]11.9999|.. |la= 2]...12.000112.0010]2.010012.100012.2000]
i [10-x : x<3 | ]
7 : x=3
No3=|f(x)=| 6 ;o 3<x<5|a=5
3 : x=95
L L1+x - x>)5 i
| x 14.800014.900014.990014.999014.9999|.. |la= 5|...15.000115.001015.0100]15.100015.2000/

f )_[3x+4 : x<=3}
Nod=| "7l 4x+6 : x> 3
[o=-4,=-3,y=0,0=6,e=3]]

4x-6 x< -5
| f(x)=| -6 DosS <x<=2
Nos = —4—x x> 2

L[[o=-6,=0,y=1,8=2,e=-5]]

No6=[a=-12,Bp=-57y=3,5=8,5=12]
DGR Te [CHE NN IVIVCH IND:0:0:9:9.9:0:0:0.:9:9.0.0:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0.0:0:0:9:9.9:0:0:0:0:9.9.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0:0:0:0:0:0.0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKKME6/1-6600503-00004XX

Limit02 piecewise for No.9459
4+x x<3
No]—[f(x)—[_6x+2 s 3},61—3}

x 12.800012.900012.990012.999012.9999|.. |a = 3]...13.000113.001013.010013.100013.2000]1
5 oox<2
NoZ:[f(x)=[7_x C e 2},a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
i [ 6+x x<2 | ]
5 : x=2
No3=|f(x)=| 5 ;D 2<x<6|a=2
8 : x=6
L -1+x x>6 i
| x [1.8000]1.900011.990011.9990]11.9999|.. |la = 2]...12.000112.0010]12.010012.100012.2000]

4 +x ox< 3
Nod = f(x)_[—6x+2 s x> 3}
[a=-3,p=-2,y=0,0=7,e=3]]

dx+2 x< -/
Nos — f(x)=| -11 Dol <=x<$
—-6—-x x>=35

L[ao=-5,p=0,y=4,8=5,e=-1]]

No6=[o=-8,P=-4,7y=3,8=9,£=10]
DGR Te [CHE NN IV1 X3 ID:0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.0.9:0:0:0:0:9.0.9:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK XKL KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6600503-00005XX

Limit02 piecewise for No.9476
Tx-1 x< -2
No]—[f(x)—[?)_x . _2},61—-2}

X [=-2.2000]1-2.1000(-2.01001-2.00101-2.0001].. Jla = -2]...1-1.9999|-1.99901-1.9900]-1.9000|-1.8000]
9—x : x<2
No2:[f(x)=[ 2 . x>:2},a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
i [ 34x x<2 | ]
5 : x=2
No3=|f(x)=| 5 ;D 2<x<6|a=2
2 : x=6
i -4 +x x>6 i
| x [1.8000]1.900011.990011.9990]11.9999|.. |la = 2]...12.000112.0010]12.010012.100012.2000]

Tx-1 : x< -2
Nod = f(x)_[s—x : x>-2}
[a=-4,3=0,y=4,0=5,e=-2]

-2x+3 x<=-4
| f(x)=] 4x+5 . 4 <x<=2
No = 13 - x>2

[a=-3,3=0,y=4,0=2,e=-4]

No6=[a=-10,p=-2,y=0,8=2,e=12]
DG RE-Te [CHE NN IVI VSN IND:0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.0.9:0:0:0:9:9.0.0:0:0:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0:0:0:0:0:9:0.0.:0:¢



):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXKXKXKXKKXKKXKXKXKXKX KK KK KK XXX KX KX KX KKKKXKXKXM6/1-6600503-00006XX
Limit02 piecewise for No.9491

- [ 5x+5 x<=1] |
NOI__f(x)__—3x+1 . ]_,a—l_
x 10.800010.9000]10.990010.999010.9999|.. |la= 1|...11.0001]1.001011.0100]1.10001]1.2000]
[ 1+x : x<3| ]
No2:_f(x)=_ 4 . x>:3_,a=3_
| x 12.800012.900012.990012.999012.9999|.. Jla= 3|...13.0001(13.001013.010013.100013.2000/
[ (6+x - x<2 | ]
8 : x=2
No3=|f(x)=| 5 ;o 2<x<4|a=2
5 : x=4
L L1 +x - x>4 i
| x [1.8000(1.9000/1.9900/1.9990(1.9999|.. |a = 2]...]2.0001]2.0010]2.0100]2.1000/2.2000]
i 5x+5 : x<=1
Nod = f(x)_[—3x+1 cox> 1}
L[ao=-3,Bp=-1,y=0,0=5,e=1]]
i —-6—-x x< -2 ]
= N - < <
Nos — fix)=|2x+5 . -2 <x<1
7 : x>=]
L[[a=-6,=0,y=2,8=1,e=-2]]

No6=[o=-12,B=3,7y=6,5=8,£=9]
DG R=-Te [CHE NN IV10)SH IND:0:0:9.9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0.9:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXKKX XXX KKK XKL KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6600503-00007XX

Limit02 piecewise for No.9633
<2
No]z[f(x):[3x+6 o },a:2}

-2x-3 x>=2
x 11.800011.9000(11.990011.999011.9999|.. |a = 2]...12.000112.001012.01001(12.100012.2000]
9—-x : x<2
No2:[f(x)=[ 6 . x>:2},a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
i [5-x :  x<2 | ]
3 : x=2
No3=|f(x)=| 6 2<x<6la=6
6 x=6
L L X x>6 ]
| x [5.8000(15.9000/5.990015.999015.9999|.. |a = 6]...]16.0001/6.0010]16.010016.100016.2000]

f )_[3x+6 sox< 2}
Nod=| W 7T|l2x-3 : x>=2
[a=-6,3=-1,y=0,8=3,e=2]]

7 : x< -/
| f(x)=|-5x+2 . -I<=x<=5
No3 = 3x42 - x> 5

[a=-4,3=0,y=1,0=5,e=-1]

No6=[a=-11,B=-10,y=-7,5=-3,£=9]
DG R=-Te [CHESNVIVI VR IND:0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0:0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0.0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK XXX X XKX KKK XKKXXKXKME6/1-6600503-00008XX

Limit02 piecewise for No.9711
- 4 x< -2
Nolz[f(x):[ 3xt4 X },a:-Z}

4x-4 x> -2
x |=-2.2000]1-2.10001-2.0100]1-2.0010]-2.0001.. Ja = -2]...1-1.9999]1-1.9990|-1.9900|-1.9000|-1.8000
7 Dox<=4
NOZ:[f(x):[3+x : x>4}’a:4}
| x |13.800013.900013.990013.999013.9999|.. |la= 4|...14.000114.001014.010014.100014.2000]
i [5-x x<2 | ]
6 N x=2
No3=|f(x)=| 6 ;o 2<x<6|a=2
3 N xX=6
L L12—x x>0 i
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.001012.0100]12.100012.2000/

f )_[—3x+4 : x<—2}
Nod=| 7Tl ax—a - x> 2
[a=-6,3=0,y=4,0=7,e=-2]

4x-3 x< -5
fx)=| -14 : 5<=x<2
No5 = Sx—4 : x>=2

[a=-2,3=0,y=7,0=2,e=-5]

No6=[o=-2,B=-1,7=3,8=6,6=9]
DGR Te [CHE N1} N ID:0:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.0.0.0:0:0.9.9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0.0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKXKME6/1-6600503-00009XX

Limit02 piecewise for No.9784
6x—-1 x<-I
Nol—[f()c)—[_zx_2 o _J,a—-l}

x [-1.2000/-1.1000(-1.0100|-1.00101-1.0001].. Ja = -11...1-0.9999|-0.99901-0.9900]-0.9000|-0.8000
3+4x . o x<=2
No2:[f(x)=[ 7 . x>2},a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
[ 6+x x<3 | ]
6 : x=3
No3=|f(x)=| 6 ;o 3<x<5|a=5
6 : x=95
L L1+x - x>35 i
| x 14.800014.9000/4.990014.999014.9999|.. |la = 5]...15.000115.001015.010015.100015.2000]

6x-1 : x< -1
Nod = f(x)_[—zx—z ©ox>= -1}
[a=-5,=0,y=1,0=7,e=-1]

-11 : x< -3
Nos — f(x)=4x+1 : -3<=x<=)5
5-x x> 5

[a=-5,=0,y=4,0=5,e=-3]

No6=[a=-9,B=-6,y=2,5=8,e=12]
DGR Te [CHEN VISR IND:0:0:9:9.9:0:0:0.:9:9.0.0:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0.0:0:0.:9:9.9:0:0:0:0:9.0.0.0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:9:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:9.0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX KKK KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKXKXME6/1-6600503-00010XX

Limit02 piecewise for No.10143
S5x+1  x<3
No]—[f(x)—[_7x_1 o 3},a—3}

x 12.800012.9000[12.990012.999012.9999|.. |la = 3[...]13.0001]13.001013.010013.10001]3.2000/
“1+x : x<A4
O L
| x [3.8000]13.9000(3.990013.999013.9999|.. |la = 4]...14.000114.001014.010014.100014.2000]
[ (4 +x x<2 | ]
6 N x=2
No3=|f(x)=| 6 ;o 2<x<5|a=5
6 N x=15
L 18 —x x>5 4
| x 14.800014.900014.990014.999014.9999|.. |la= 5|...15.000115.001015.0100]15.100015.2000/

5x+1  x<3
Nod = f(’C)_[—7x—1 ;ox>= 3}
L[ao=-7,p=-4,y=0,0=6,e=3]]

3x-5 x<=-5
fx)=| 12 - -5 <x< 2
Nos = 5x-2 x> 2

L[ao=-3,p=0,y=5,8=2,e=-5]]

No6=[a=-4,B=-3,7y=6,8=9,¢=12]
DGR Te [CHE NNV ON NN IND:0:0:9:9.9:0:0:0:9:9.0.0:0:0:9:0:9.0:0:0:0:9.9.9:0:0:0:9:9.0:0:0:0.9:9.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:9.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0.0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK KKK KKK X XKKKKKXXKKXME6/1-6600503-00011XX

Limit02 piecewise for No.10626
<1
No]z[f(x):[6+x X },azl}

—T7x-3 x> 1
x 10.800010.9000/0.990010.999010.9999|.. |Jla= 1|...]11.0001]1.001011.010011.10001]1.2000/
2 Dox<=3
NOZ:[f(x):[l+x : x>3}’a:3}
| x 12.8000]12.9000(2.990012.999012.9999|.. |Ja = 3]...13.000113.0010]13.010013.100013.2000]
i [6-—x x<4 | ]
4 N x=4
No3=|f(x)=| 4 ;D 4<x<8|a=8
4 N x=38
L L12—x x>8 i
| x |7.8000]7.9000(17.990017.999017.9999|.. |a= 8|...18.000118.001018.0100]18.100018.2000/

6+x ox< ]
Nod = f(x)_[—n—s s x> J
L[[o=-6,p=-3,y=0,0=4,e=1]]

2x-1 x <=-4
Nos — f(x)=| 6+x : 4 <x<2
8 : x>=2

L[ao=-3,p=0,y=1,0=2,e=-4]]

No6=[a=-12,B=-10,y=-8,5=-3,£=0]
DGR Te [CHE NI NN D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0.0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK LXK KKK KKK X KKX KKK XKKXXKKXME6/1-6600503-00012XX

Limit02 piecewise for No.11002
-4 <2
No]z[f(x):[ R },a:2}

2x-7 x> 2
x 11.800011.9000(11.990011.999011.9999|.. |a = 2]...12.000112.001012.01001(12.100012.2000]
l+x . x<=2
No2:[f(x)=[ 3 . x>2},a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
i [4+x © x<4 ] ]
6 : x=4
No3=|f(x)=| 6 ;D 4<x<8|La=4
8 : x=38
L L14—x x>38 i
| x [3.8000]13.9000(3.990013.999013.9999|.. |a = 4]...14.000114.001014.010014.100014.2000]

4 +x = x<2
Nod = f(x)_[—zxn Cox> 2}
L[o=-6,=-3,y=0,0=4,e=2]]

-9 : x<=-2
| fx)=| T+x = -2 <x<1
Nos = 2x-6 x> 1

L[[ao=-1,p=0,y=6,0=1,e=-2]]

No6=[a=-10,B=-4,y=-2,8=-1,£=0]
DGR Te [CHE SNV ON DN 1D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.0:0:0.:0:9:9.0.9:0:0.:9:9.9.0:0:0:0:9.9.0.0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:9:0.0:0:0:0:0:0:0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X KKX KKK XKKXXKKME6/1-6600503-00013XX

Limit02 piecewise for No.11188
Sx+1 x< -2
]: f = :-2
No [(x) [7—x Lo _2},61 }

X [=-2.2000]1-2.1000(-2.01001-2.00101-2.0001].. Jla = -2]...1-1.9999|-1.99901-1.9900]-1.9000|-1.8000]
6 ;o x<=3
NoZ:[f(x)zL_x : x>3}’a:3}
| x 12.800012.900012.990012.999012.9999|.. |la = 3/...]13.000113.0010]13.0100(13.100013.2000]
i [9—x x<4 ] ]
5 : x=4
No3=|f(x)=| 5 ;D 4<x<6|a=4
5 : x=6
L -3+x x>6 i
| x [3.8000]13.9000(3.990013.999013.9999|.. |a = 4]...14.000114.001014.010014.100014.2000]

S5x+1 : x< -2
Nod = f(’C)_[7—x cox>= -2}
[a=-3,3=0,y=3,0=6,e=-2]

11 x< 2
| f(x)=|-5x+1 . -2<=x<1
No5 = 2x+4 - x>=]

[a=-1,3=0,y=7,0=1,e=-2]

No6=[o=-6,p=-5y=-48=1,6=10]
DG RE-Te [CHE SN VIONECH D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0:0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXKKX XXX XXX KKK KKK KKK KKK KKK KKK X XKKXKKKXKKKME6/1-6600503-00014XX

Limit02 piecewise for No.11505

i [ Tx+6 x<=1]
NOI__f(x)__6x+4 . ]_,a—l_
x 10.800010.9000]10.990010.999010.9999|.. |la= 1|...11.0001]1.001011.0100]1.10001]1.2000]
[ (5—x : x<2| ]
No2—_f(x)—_ 3 . x>:2_,a—2_
x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.0001]12.001012.010012.100012.2000
i [3+x - x<3 | i
5 R x=3
No3=|f(x)=| 5 ;o 3<x<6}|a=3
5 : x=6
L 111 -x x>06 i
| x 12.800012.900012.990012.999012.9999|.. |Jla = 3]...]3.000113.001013.010013.100013.20001
-T7x+6 : x<=1
Nod = f(x)_[6x+4 cox> 1}
[a=-4,3=-3,y=0,0=6,e=1]
-3x-3 : x< -5
f(x)= 12 ;oS <=x<
Nos — (x) 5 x<3
4 +x x>=3

[a=-2,3=0,y=2,0=3,e=-5]
No6=[a=-9,B=-7,y=-5,6=0,e=1]

X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKKK XXX XXX KKK KKK KKKKXX



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X KKX KKK XKKXXKXKXME6/1-6600503-00015XX

Limit02 piecewise for No.12113
3x-2 x<1
Nol—[f(x)—[ v ye— J,a—l}

x 10.800010.9000]10.990010.999010.9999|.. |la= 1|...11.0001]1.001011.0100]1.10001]1.2000]
2+x . x<=)5
N02:[fx :[ La=>5
(x) 4 oox>)5
| x 14.800014.900014.990014.999014.9999|.. |la = 5|...15.000115.001015.0100]15.100015.2000/
11-x x <4
7 R x=4
No3=|f(x)=| 5 D 4<x<T7|a=17
5 R x=7
L |2 +x x>7 i
x 16.8000]16.9000]16.9900]16.999016.9999|.. |la = 7]...17.0001|17.0010|7.010017.100017.2000|
3x-2 : x<
t)-|
No4 = —X Dox>=1
[a=-7,B=-1,y=0,0=5,e=1]
-12 : x< -2
f(x)=| 4x—-4 . -2<=x<3
Noj = (x)
2x+4 x> 3

[a=-3,3=0,y=4,0=3,e=-2]

No6=[a=-12,B=-11,y=-9,5=0,8=6]
DG RE-Te [CHE SNV ON SN D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.9:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX XXX KKK KKK KKK KKK KKK KKK X XKXXKKXXKXKME6/1-6600503-0001 6XX

Limit02 piecewise for No.12541
2x+4 x<2
No]—[f(x)—[_6x+1 x>2},a—2}

x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.001012.0100]12.100012.2000
7 Doox<)S
NoZ:[fx 2[ }azS}
(x) 2+x : x>=57
| x 14.800014.900014.990014.999014.9999|.. |la = 5|...15.000115.001015.0100]15.100015.2000/
8—x - x<2
6 R x=2
No3=|f(x)=| 6 : 2<x<6|a=6
6 R x=6
L L11 —x - x>06 i
| x |5.800015.900015.990015.999015.9999|.. |la= ©6]...]6.0001/6.0010]16.0100]16.100016.2000]
2x+4 o x< 2
t)-|
No4 = —-6x+1 : x> 2
[a=-7,3=-3,y=0,0=7,e=2]
2x+6 x< -4
flx) = -2 P4 <=x< 2
Noj = (x)
-Sx+3 : x>=2

[a=-2,3=0,y=6,0=2,e=-4]

No6=[a=-11,B=-7,y=1,6=3,e=4]
DG RE-Te [CHE SN VI 0N RSN D 0:0:9:9.9:0:0:0:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0.0:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0.9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0:0.0.:0:¢



):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKKXKKXKXKXKXKX KK KK KK XXX KX KXKKXKKKKKKKXM6/1-6600503-00017XX
Limit02 piecewise for No.12590

6x—1 x<=-1
NO]:_f(x):_—7x+5 x>_1},a:-l_
x |-1.2000(-1.1000|-1.0100]-1.0010]-1.0001.. Ja = -1]...1-0.9999]1-0.9990|-0.9900|-0.9000|-0.8000
9 ;ox<=3
NOZZ_f(x):_IO—x : x>3}’a:3_
| x 12.800012.900012.990012.999012.9999|.. |la = 3/...]13.000113.0010]13.0100(13.100013.2000]
i [4+x © x<4 ] ]
8 : x=4
No3=|f(x)=| 5 ;D 4<x<8|a=8
5 : x=38
L 13 —x x>38 i
| x [7.8000]7.9000(7.990017.9990]17.9999|.. |a = 8]...18.000118.001018.010018.100018.2000]

6x—-1 : x<=-]
Nod = f(’C)_[—7x+5 : x>-]:|
[a=-7,3=0,y=4,0=7,e=-1]

3x+7 x< -5
| f(x)=] -8 ooh<=x<=4
No5 = -7T—-x x> 4

[a=-3,3=0,y=3,0=4,e=-5]

No6=[o=-8,B=-7,7y=-6,8=8,5=12]
DG RE-Te [CHE NNV ON VR D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.0:0:0:0:0:9.0:0:0:0.:9:9.9:0:0:0:0:9.9.0.0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:9:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0:0:¢



):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKKXKKXXKXKXKXKX KK KK KK XXX KX KXKKXKKKKXKXM6/1-6600503-00018XX
Limit02 piecewise for No.12621

T+x x<=3
Nolz_f()c):__4x_6 x>3_,a=3_
x 12.800012.9000[12.990012.999012.9999|.. |la = 3[...]13.0001]13.001013.010013.10001]3.2000/
8 Dox<=3
N02:_f(x)=_4+x . x>3_,a=3_
| x 12.8000]12.9000(2.990012.999012.9999|.. |Ja = 3]...13.000113.0010]13.010013.100013.2000]
i [ 44x x<2 | ]
6 : x=2
No3=|f(x)=| 6 ;D 2<x<6|a=2
3 : x=6
L |-3+x x>6 i
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.001012.0100]12.100012.2000/

T+x Dox<=3
Nod = f(x)_[—4x—6 cox> 3}
[a=-7,3=-5,y=0,0=7,e=3]

Sx+7 : x< -2
Nos — fix)=| -1+x : -2<=x<3
2 : x> 3

[a=-5,=0,y=4,0=3,e=-2]

No6=[o=-8,B=-6,y=-58=-1,6=2]
DGR Te [CHE SNV ON RSN D 0:0:9:9.9:0:0:0:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9:0:0:0:0:9.0.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0.0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXKKX XXX XXX KKK KKK KKK KKK KKK X KKX KKK XKKXXKXKXME6/1-6600503-00019XX

Limit02 piecewise for No.12641
3+x x<1
No]—[f(x)—[_7x_6 - J,a—l}

x 10.800010.9000/0.990010.999010.9999|.. |Jla= 1|...]11.0001]1.001011.010011.10001]1.2000/
4+x  x<3
B I
| x 12.8000]12.9000(2.990012.999012.9999|.. |Ja = 3]...13.000113.0010]13.010013.100013.2000]
i [54+x x<3 | ]
6 N x=3
No3=|f(x)=| 6 o 3<x<5|a=3
6 N x=25
L L11—x - x>)5 i
| x 12.800012.900012.990012.999012.9999|.. |la= 3|...13.000113.001013.0100]13.100013.2000

3+x = x<1
Nod = f(x)_[—7x—6 ;ox>= J
[a=-6,3=-5,y=0,0=7,e=1]

5x+6 - x< -4
| f(x)=|-4x+2 : d<=x<4
No5 = 14 - x>=4

[a=-3,3=0,y=6,0=4,e=-4]

No6=[o=-12,B=-9,y=-4,5=6,¢=8]
DGR Te [CHESNVIONECN D 0:0:9:9.9:0:0:0:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.9:0:0.:9:0.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:9:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX XXX XKL KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6600503-00020XX

Limit02 piecewise for No.12674
-1 <
No]:[f(x):[6x o 3},a:3}

-3x-1 x>=3
x |2.8000]2.9000012.990012.999012.9999|.. |a = 3]...13.000113.001013.010013.1000|3.2000 |
5 ox<=3$5
N02:[f(x):[—l+x : x>5}’a:5}
| x [4.8000[4.900014.990014.999014.9999|.. |la = 5]...15.000115.0010]5.0100]5.1000/5.2000]
i [5-x x<4 ] )
1 : x=4
No3=|f(x)=| 4 ;D 4<x<8|a=8
4 : x=38
L 12 -x x>8 i
| x |7.8000]7.900017.990017.999017.9999|.. |la = 8/...18.000118.001018.010018.100018.2000|

6x-1 : x<23
Nod = f(x)_[—sx—1 cox>= 3}
L[ao=-5,p=-4,y=0,0=1,e=3]]

2x-5 x<=-5
| f(x)=|-3x-6 . -5 <x<2
No3 = A2 - x> 2

L[ao=-4,=0,y=7,0=2,e=-5]]

No6=[a=-7,p=-1,y=6,8=9,£=10]
DGR Te [CHE NI 0 ID:9:0:9:9.9:0:0:0.:9:9.9.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0:9:0:0:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKXKME6/1-6600503-00021XX

Limit02 piecewise for No.12728
S5x+3 x<2
No]—[f(x)—[_2x+6 x>2},a—2}

x |1.800011.9000[11.9900]11.999011.9999|.. |la= 2|...12.0001]12.001012.010012.10001]2.2000/|
7 Dox<A4
NoZ:[f(x):[3 +x 1 ox>= 4}’61:4}
| x [3.8000]13.9000(3.990013.999013.9999|.. |la = 4]...14.000114.001014.010014.100014.2000]
i [10-x - x<5 | ]
8 : x=95
No3=|f(x)=| 5 o 5<x<8|a=8
5 : x=38
L L12—x x>8 i
| x |7.8000]7.9000(17.990017.999017.9999|.. |a= 8|...18.000118.001018.0100]18.100018.2000/

f )_[5x+3 sox< 2}
Nod = V5 2x+6 - x> 2
L[ao=-7,p=-5,y=0,0=5,e=2]]

-6 : x< -2
I fx)=| 4x+2 o 2<x<5
Nos = 5x4+6 :  x>=5

L[ao=-1,p=0,y=2,8=5,e=-2]]

No6=[o=-11,B=-6,y=-1,6=2,¢=4]
DGR Te [CHE NI 02N ID:0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0.:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXKKX XXX KKK KKK KKK KKK KKK XXX X XKX KKK XKKXXKKXME6/1-6600503-00022XX

Limit02 piecewise for No.14247
-3x-2 x<2
No]:[f(x):[ 3x-2 X },a:2}

4x-5 x> 2
x 11.800011.9000(11.990011.999011.9999|.. |a = 2]...12.000112.001012.01001(12.100012.2000]
4 ox<3
NoZ:[f(x)zL_x : x>=3}’a:3}
| x 12.800012.900012.990012.999012.9999|.. |la = 3/...]13.000113.0010]13.0100(13.100013.2000]
i —1+x :  x<4 | ]
3 x=4
No3=|f(x)=| 6 4<x<6|a=4
8 x=6
L L X x>6 i
| x [3.8000]13.9000(3.990013.999013.9999|.. |a = 4]...14.000114.001014.010014.100014.2000]

3x-2 : x<2
Nod = f(’C)_Lx—s Cox> 2}
[a=-7,3=-2,y=0,0=3,e=2]

5 : x<=-]
Ry =|—4x+1 ] <x<=4
No5 = 3x—-7 - x> 4

[a=-2,3=0,y=7,0=4,e=-1]

No6=[a=-10,f=-4,y=1,8=2,¢=8]
DGR Te [CHE NI 02VN D 0:0:9:9.9:0:0:0.:9:9.0.0:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0:0:0:0:9:0.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0.0.0.:0:¢
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